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i) @Y I AT E |
(ii) Yo7-G8IT 178 TF 3ld TG-FHIT 57 & | T9F Fo7 & [0 1 3% & |
(iii)) X¥7-GCIT 9 T 18 T TY-I1g 97 & | I35 97 & 17T 2 7% & /
(iv) XYo7-G&IT19 @ 27 % 4} Tg-3707 J97 & | I9% 597 & 70 8 3% & |
| (V) FIH-GEIT28 T 30 TF TH-ITNT 37 & | T9F Fo7 & [0 § 3% & /
(vi)  SETIHAFAR T 2qcT] BT FIIT F | Fegrcicd] & 9917 #1 FHIa Tg1 8 |

General Instructions :

(1) All questions are compulsory.

(it) Questions number 1 to 8 are very short-answer questions and carry
1 mark each.

(iti) Questions number 9 to 18 are short-answer questions and carry 2 marks
each.

(iv) Questions number 19 to 27 are also short-answer questions and carry
3 marks each. |

(v)  Questions number 28 to 30 are long-answer questions and carry 5§ marks
each.

(vi) Use Log Tebles, zf necessary. Use of calculators is not allowed.

1. Y8 Hfgd TR (fec) Theh a1 § IUfCUd THIAT Hl T&AT H IRepoH
HIT | ' I

Calculate the number of atoms in a face centred cubic unit cell.

2. 3G IEHI IR Frper a1t & arsdiy wraEyr gishor § Y faftd & AW
forfEg | | I

Name the methods used for the vapour phase refining of impure titanium
and nickel metals.

8. THIYH PCl, YT i <1 8 ? I
Why does PCl; fume in moisture ?

4, AYS FEEES Fi FT THR AT & AU AFEEEAES § gt S Hdhar g ? 1

How may methyl bromide be preferentially converted to methyl

isocyanide ?
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5. o gEeledl Hrefie AR, ROH 3R R'OH, # ¥ 9Ygan &R 3R g@q
AT SIIER W&l 2 | R 3 R’ § &1 31— &1 2 1

Of the two hydroxy organic compounds ROH and R'OH, the first one 1s
basic and other is acidic in behaviour. How is R different from R’ ?

6. ANFIE=-3-39-2-319 1 99 U IH ael I & &A1 §F Sl IRRGd
<o | I

Draw the structure of the compound named 4-methylpent-3-en-2-one.

7. 959 § fGefim A 3R E & 399 & S0 84 9 gHae=T UM & 9|

ISCE 1
Name the deficiency diseases resulting from lack of Vitamins A and E in
the diet.

8. difiya Waew yfeifaes #a1 g1d & 2 391 U 3eEw Y | ]

What are limited spectrum antibiotics ? Give one example.

9. Gifsyy FEEE &1 T Sy foedg 273 K€ 1= a9 W 3™ JHaT 8 | T
I9Yth o SRt SIS o STHA o 919 H 39 Y hl HHI Bl M i SATEdl

HIT | 2

An aqueous solutiempof sodium chloride freezes below 273 K. Explain the
lowering in fx:eezlng points of water with the help of a suitable diagram.

10. 0001quﬂﬁ$aaraﬁ%g'c[a1m 4% 1075 S/em B | Ifg I&fifa agd
e # wehifes et i Mer ST 890 S em?/ HiA &, @ R v wHiftw
A & oo | s f9eH 37 uftenfera Shifsu | _ 2

HAIAT

e 4 F v R e g 11 VR | s da sl % R
s fiss St &1 Iiepes hifse | (F = 96,500 C 7))

The conductivity of 0-001 M acetic acid is 4 x 107° S/cm. Calculate the

dissociation constant of acetic acid, if molar conductivity at infinite
dilution for acetic acid is 390 S cm?%/mol.

OR

The standard electrode potential for Daniell cell is 1-1 V. Calculate the
standard Gibbs energy for the cell reaction. (F = 96,500 C mol™2)
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11. = = = fifl . 2
(a) UH & qerd Fiasl IR freae! = sa9gr fear gwar 8 |
(b) ETEAT W TH [SSHA ¥ HH Iu1 I T Gehall 3 |

Explain the following :

(a) Same substance can act both as colloids and crystalloids.

(b)  Artificial rain is caused by spraying salt over clouds.

12. = e 9 f5e IR §91e S § 2 2
(a) U H TR
(b) Ul H G

How are the following colloidal solutions prepared 7
(a) Sulphur in water
(b) Gold in water

18. = % fem swor fofEu 2

(@) UgHE 1 e fgq-omees & F SUH 3 g Hediane ¥ e
AL & |

(b)/ . T5=h TTaqTge ! HTa & 1Y T/ T U1 H AI=Ia ham S § 7g
Tt IFRAT CryO4 1 HIeH & T1Y TR LA 9T & gt |
Give reasons for the following :

(a) Alumina is dissolved in cryolite for electrolysis instead of being
electrolyzed directly.

(b) Zinc oxide can be reduced to metal by heating with carbon but
Cry,04 cannot be reduced by heating with carbon.

14, = =i guzmse | 2
(@) NO, &1 GIF (dimer) THAT & & FTaT & |

(b)  BiCly st & BiCl, it e § |

Explain the following :
(a) N02 readily forms a dimer.
(b)  BiClj is more stable than BiCl;.

56/1/1 4
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&t e & T T T & 278 Rt % 41 o e | 3

What is Lanthanoid contraction ? What are its two consequences ?

15,

18. fa= aafifsramaett & =ame Hifse 2
@) TsEe Sfemmss Srfvfsean
(b)  Hufer (FmA) Atfsean

Explain the following reactions :
(&)  Gabriel Phthalimide reaction

(b) Coupling reaction

17. = Qi gmi # =R g 6 & forg wamafes wdieon sega Hif . 2
(2) U 3R YRrereH=
b) R AR SEHREEE

Give chemiecal tests to distinguish between the following pairs of
compounds :

(a) Aniline and Ethylamine
(b) Ethylamineand Dimethylamine

18. 3UYH ICEN-&ied =1 9gi il =rea Hife 2
(a) YA AYHTSIH
(b) RO TIHTSIH

Explain the following terms with suitable examples :

(a) Cationic detergents

(b) Anionic detergents

10, T O T HIR ER (boc) Howt F o | vk A & PR A

WI?ZSOpm% Iﬂﬁmiﬁﬁ 80 g ecm—° '@I,?ﬁaﬁﬂtﬁﬁ'{m
ufterfera ST | 38 v & gy Y fen oft afefem Hifvm | 3

An element occurs in bee structure. It has a cell edge length of 250 pm.

Calculate the molar mass if its density is 8:0 g cm~3. Also calculate the
radius of an atom of this element.

06/1/1 o | 0.
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399 % 6:56 x 10~2 g YT TgH famaa Wil w1 ifir g 1 9R & | IR

foerm & yftra €99 & "0 5.0 x 102 g B, @ W o % Iw B9 F=
AT T =T BN 2 38

The partial pressure of ethane over a saturated solution containing
6-:56 X 10-2 g of ethane is 1 bar. If the solution were to contain 5:0 x 102 g

of ethane, then what will be the partial pressure of the gas.

(a)

(b)

(a)

(b)

399 A (fuel cells) T &id & 7 Hz—Oz%ﬁﬂ?ﬁ'ﬁ%“ﬂﬁ\Wﬁm |

ufea saaere arfufiraredl €t =men HifvT | -
o dedfm dm F e '
Zn (s) + Cu2* (aq) = Zn?* (aq) + Cu (s)

gl B, 3T fmor Hifse | 3

What are fuel cells ? Explain the electrode reactions involved in
the ﬁ?orking of H2 - 02 fuel cell.

Répresent the galvanic cell in which the reaction

~\Z1 )+ Cu2* (aq) — Zn2* (aq) + Cu (s)

_hakes place.

AR Teh WIS HHEHal & | a5 TH g H NeEa @R 6 s
fehe WM o U FR@AT B TN 3UAT RS THREHS 39 &3 & @d H hepdl
a8 o Iueh! 3ast # wHi g @l B | wehw 3 T 1 A foman oIk
urRn o6 STufite 1 ge 3 uefiem W @ S §Hi9 dE wdt 8 | 3Ed
FREHER ! GG feon & e &I 7ol § ee § I8 36! IJTER H
foram # |

:ia‘ﬂﬁam's'q:

(a)
(b)

SArensl GRT T&ga o 7T 5 |

TR B e T 9 TRl S A w58 @

tufsrarett & Hgfera aten fAfEy | 3
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Lokesh is a social worker. A milkman in the village has been complaining
that a factory in his nearby area dumps chemical waste in his field which
has become a major cause of decreasing productivity. Lokesh visited that
place and found after analysis that the major waste was potassium
permanganate which is being absorbed by the soil. He advised the factory
people that they should treat potassium permanganate solution before
dumping it into the drain.

Comment in brief :

(a) About the value/s displayed by Lokesh.

(b) Write balanced chemical equations for the two reactions showing
oxidizing nature of potassium permanganate.

23. (a) TG HeC Hiriaw 9 hy 47 a1 ® ?
b) fA=feRea & IUPAC 7™ foifE
i) Kj[Fe(Cy0,)s]
(i1), [Pt[NHg)¢]Cl,

©) /[Co(NHjg),Cl,]" & & Tumaga it g1 TfRga HIg | 3
(2) HASEHA WAy (IAW §€) g w1 TN W [Cr(NHy)gl3* &
ST 371 Gahia SqagRI hl SIS Hhiog |

(Cr 1 YTHIY ShHTH = 24)
() [Ni(NHg)gNO,]Cl & AT qH1E9d %1 IUPAC 7™ fofReu |

(@) How is a double salt different from a complex ?
(b) Write IUPAC names of the following :

1)  Kg[Fe(Ca0y)s]
(1) [Pt[NHj3)glCly
(c) Draw the structure of cis isomer of [Co(NH3)4012]+.

OR

(a) Using Valence bond theory explain the geometry and magnetic
behaviour by [Cr(NHg)g]°*. (At. no. Cr = 24)

(b)  Write the IUPAC name of ionization isomer of [Ni(NHg)3NOg]Cl.
56/1/1 7 P.T.O.
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25.

26.

27.

56/1/1

T SYTEIT HIIT :

() RIS FT foyet eyl (S diHe) WRFeTRT RS %
feyet el & %% g & |

b) U gomse Tufy gfiw € @t off 3 5@ o 7 gera |

) P (frmar) siferdest i foa ol o s=mn g @

Explain the following :

(a) The dipole moment of chlorobenzene is lower than that of
cyclohexyl chloride.

(b) Alkyl halides, though polar, are immiscible with water.

- (c) Grignard reagents should be prepared under anhydrous condition.

() UIHTH & uuTedt 399 w9 it Frarfafy samEe |

b) WiFie 8 e HY IH H A8 2

(@) Give ‘mechanism of preparation of ethoxy ethane from ethanol.

(b) How1is toluene obtained from phenol 7

(@) \DNA 3 RNA ¥ Tt sl smaters sl 9 fafa |

(b) T 3 HAIIEl & AH ARGy |

(a) Write the structural and functional differences between DNA and
RNA.

(b) Name two components of starch.

(8)  WEERAH (FIITATTIEAN) T FHEEEAHOT (FEAITCAIEA) I
IR FARY | TAH T Toh-Ush Iarawl ot I |

(b) el o9 § S=tge WigaTss &1 71 iuw Bt ] 2

(a) Differentiate between copolymerization and homopolymerization.
(Give one example of each.

(b) What is the role of Benzoyl peroxide in preparation of Polythene ?
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56/1/1

@) A% frawen # v &R & aifufse & @ 10°C | K &1 9=
4.5 x 10% 57! & o =g ffpar 6 afpga 91 60 kJ mol™! & | 0%
ﬁm%aamtrmthmtrﬁl-5x104s'13’lTn?

®) (@) 3 v gm wife Fi AfufHar & forg 31 g Fa x 7 N 3/4
mmy@,ﬁxﬁyﬁWﬁﬂ@m?
(i) i-Hfi g Tr STn B fo TR THUA ATl Wgd @ e oEed
Fal ° AYS HAl T@d § T 6 oft Trarg atiisear i g i
gt 3 | UET 1 R ?

Fryat _
(@) U YYH il hl AMUBHAT 60% T &+ 7 100 e =1 797 &dt 8 | 56
90% U B H fehe wwa T 2

(b) Eﬁiﬁmﬁaﬁﬁmﬁuﬁsﬁmmﬁ@wml

(a) 'The decomposition of A into products has a value of K as
4-5 % 10° s~ at 10°C_ and energy of activation 60 kJ mol™. At what
temp'ef&i’:ure--WOuld Kbe 1-5x 10*s71?

(b) () 'Iﬂf. hal_f lIife period of a first order reaction is x and 3/4h 1ife
period of the same reaction is y, how are x and y related to
each other ?

(11) In some cases it is found that a large number of colliding
molecules have energy more than threshold energy, yet the
reaction is slow. Why ?

OR

(a) A first order reaction takes 100 minutes for completion of 60% of
the reaction. Find the time when 90% of the reaction will be
completed.

(b)  With the help of diagram explain the role of activated complex in a
reaction.

3+2

3+2

9 P 150.




(a) XeFg ® XeOF, 3R XeO, yH H7 & oy wgfera Tamafre st
ferfeg |
b) ¥ HRU fAReT -
@) H,Te® H,SHH < gl @ |
(i) HyPO, =y i ygf @i & |
(iii) SO, T TG FGh ¢ | 2+3
Tyt
A= & ST Ty
(a) mﬁmq@m(ﬁm)ﬁa@aﬁmmwh
) CIF;¥ F, At framsfie & wg Cl, & CIF; e foramsfict @ |
()  TEgIeH ety aTaeT § UTE STl € |
d) I ] 1 e T @h: TE9Y WA © |
(e). Seig-faeeA (FESTeire™) o Wid SFg 3113 7 | 5x1
(a) . Write“the balanced chemical equations for obtaining XeOz and
XeQF, from XeFe.
(b)  Account for the following :

(1) st is less acidic than HzTe.

(i1)) HgPO, has reducing nature.

(i11) SO, is an air pollutant.

OR

Account for the following :

(a)
(b)
(c)
(d)

~(e)

56/1/1

Phosphorus shows high tendency for catenation.

F, is more reactive than ClF; but ClF5 is more reactive than Cl,.

Nitrogen is found in gaseous state.

Decomposition of ozone molecule is a spontaneous process.

SF¢ 1s inert towards hydrolysis.

10
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30. (a) U Yoo &R ¥ f3pam 0 W T AT A6 ‘A’ % 2 Jid af e
B 3’2 F | Cu gl FEmesiest © ‘B’ ¥ ‘A’ WIH BT & Jaf®
‘C’' % ATRUT B T 3 ‘D’ WTH e 8 R ¥ CH,0,
2 | A, B, C 3R D 3Aiffpt it gg== o 3R aft grag Afufsranett

! faflan |
b) (@) o-ATRIBHIA T FIYAH p-ATEHBHIA & HH 8 | GHASY T |
Gi) fr= 9ffes =1 TUPAC 7 fifau 3+2
NO,

A

(a) | B9 9REaHl &1 3T HE A 2
G) UHIE w1 wEits o |
(i) ZTege 1 m-ATIeigeh 37t H
(ili) TS 1 e |

b) ¥ FRO e ;

@) YR e § TR o ot yed e R 1

(i) PrEI=e NER & AFTAT Fe9d F10 T9Y HIRH &+ pH HH
gy ¥ FafEa @ s ey | | . 3+2

HYAT

(@) Two moles of organic compound ‘A’ on treatment with a strong
base gives two compounds ‘B’ and ‘C. Compound ‘B’ on
dehydrogenation with Cu gives ‘A’ while acidification of ‘C’ yields
carboxylic acid ‘D’ with molecular formula of CH,0,. Identify the
compounds A, B, C and D and write all chemical reactions

involved.

56/1/1 11 P. 150,
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(b) (1) o-nitrophenol has lower b.p. than p-nitrophenol. Explain.

(i1)) Write IUPAC name of the following :
NO,

yet

(a) How will you carry out the following conversions ?

OR

(1) Acetylene to Acetic acid
(i1) Toluene‘ to m-nitrobenzoic acid

(111) KEthanol to Acetone

(b)  Give reasons :
(i) Chloroacetic acid is stronger than acetic acid.

(11) pH of reaction should be carefully controlled while preparing
ammonia derivatives of carbonyl compounds.

06/1/1 12
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